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Return Loss and VSWR




Gain table

Model E47

Test / Position Gain /Free Space

Frequency 2400 2410 2420 2430 2440 2450 2460 2470 2480 2490 2500
Ant. Port Input Pwr. (dB) 0 0 0 0 0 0 0 0 0 0 0

Tot. Rad. Pwr. (dB) -2.70 -2.73 -2.82 -3.06 -3.41 -3.40 -3.28 -3.21 -3.01 -2.99 -3.01
Peak EIRP (dB)) 1.39 1.48 1.49 1.33 1.03 1.14 1.31 1.35 1.49 1.43 1.36
Directivity (dBi) 4.09 4.21 431 4.39 4.44 4.54 4.59 4.56 4.50 4.42 4.37
Efficiency (dB) -2.70 -2.73 -2.82 -3.06 -3.41 -3.40 -3.28 -3.21 -3.01 -2.99 -3.01
Efficiency (%) 53.74 53.36 52.21 49.40 45.65 45.67 47.00 47.74 50.03 50.29 50.04
Gain (dBi) 1.39 1.48 1.49 1.33 1.03 1.14 1.31 1.35 1.49 1.43 1.36
NHPRP +Pi/4 (dB ) -3.80 -3.84 -3.95 -4.20 -4.54 -4.54 -4.41 -4.33 -4.12 -4.09 -4.11
NHPRP +Pi/6 (dB ) -5.15 -5.20 -5.32 -5.60 -5.98 -6.01 -5.90 -5.84 -5.63 -5.60 -5.62

Note
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